Vocabulary Sheet for Lesson 4-1

Definition Diagram/ Notes

Facts of Congruence: A
Two shapes can only be congruent if

D
you could place them on top of each < B Wh Y
v ¢

other and have the corresponding
sides and angles match up perfectly

p €

Stating Congruence:
Using the previous pentagons we can make the following statements:
® Pentagon ABCDE is congruent to pentagon XYZVW because:

® m<A=me<X AB = XY
® m<B=mcVY BC=YZ
® m«C=-m<Z cb=2z2V
® m«<D=m<V DE = VW
® m<E=m<W EA = WX

Corresponding Parts:
The parts that are in the same place and have the same size in each shape
are called corresponding parts

For triangles we can say that corresponding parts of congruent jriangles are
congruent (CPCTC) but this rule works for all shapes

Example 1:
® Suppose you know that AFIN is congruent to AWEB.

° Namg—\‘l\_ree pairs of corresponding sides ~ T
(T2 IVZER €N = wB
® Name three pairs of corresponding angles

LEZLwW LNz LB LT ZLE
® TIs it correct to say that ANIF is congruent to ABEW? Why or why
ot S 5 He Corresponding paris Suill
Ma¥ch U\P

® Ts it correct to say that ANIF is congruent to AEWB? . v
Why or why not N\D, (orresponding Parts don'y Matc MP




Example 2

e The two triangles shown are congruent

e AABO = ACOD D =

em<A= _ml(l
e AO=_(CD

e Can you deduce Y¢S ,Sinee
that O is a midpoint? A0 =CO
o Can you deduce

that segment DC B

|| segment AB? A
\%s, Since alt, jnt. angles ae = (LA’-—“/“))

Example 3:

® Plot the given points on the graph paper provided. Draw AFAT. Locate
point C so that AFAT is congruent to ACAT

® F(7,5) A(-2,2) T(5, 2)
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